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‘ Part-A: General Awareness ANDO03JSA2024 HATIT-eh: HTATTT STITRh AT

HATIT-h: AT SIx™ehdl
PART—A: GENERAL AWARENESS

1. Who among the followings is not a |1, fe=faf@a & @ Fia 1857 Tadar sngre
freedom fighter of 1857 Freedom & TaaIaT Y T B
Movement?
A) Rani Laxmi Bai A) T d&H 918
B) Nana Saheb B) ST Aled
C) Tatya Tope C) dredr e
D) Netaji Subhas Chandra Bose D) el FHIY Tg a1
® © ©®
2. The Reserve Bank of India*was established | 2. siRfrg Rard S &1 ®um9=m 1 3719, 1935 Fr
on April 1, 1935 in accordance with the & et yraeret & 3R i S o
provisions of the 2
A) Reserve Bank of India Act, 1935 A) 9RdT Rad 8% fRfEas, 1935
B) Reserve Bank of India Act, 1934 B) #Rd Rod d& 3ffaTd, 1934
C) Reserve Bank of India Act, 1933 C) HRdT Reg d% RfETH, 1933
D) Reserve Bank of India Act, 1936 D) #RAT Rod d& 3ffATH, 1936
® © ©®
3. Sattriya is an Indian classical dance of | 3. Wmmwmamwﬁ?
which state?
A) Kerala A) el
B) Assam B) 31EH
C) Chhattisgarh C) TRIEING
D) Sikkim D) fafFsn
® © ©
4. Article 300A of the Constitution of India | 4. 91RgG & TRAYUT &Fr Wgn 300A frad
deals with FefaT &2
A) financial emergency A) T 3margeRTer
B) all-India services B) QT HRAT Fard
C) right to education C) fveTr &1 IR
D) right to property D) TURY & IVHER
® © ©®



Part-A: General Awareness ANDO03JSA2024 HATIT-h: HTHATT STIHRehdl
5. Which regiment has the honour of having | 5. frg o =7 Y 310 &I F qTHAdT
the most number of Param Vir Chakra TF (@R F T HRT F7 wateg Ye) red
(India's highest medal for gallantry) +
awardees? (el T AT Ao g
a) Brigade of the Guards A) IS & s
b) Grenadiers Regiment B) IARTY o
c) Punjab Regiment C) Yo oEe
d) Parachute Regiment D) th'[gc\]g oFe
® © ©®
6. Limestone, chalk and marble are different | ¢ Tell U2, Tk IR Iy erfaiag #
forms of which of the following ¥ By AT ¥ BT w9 &
compounds?
a) Calcium Chloride A) $feergs FARTSS
b) Calcium Carbonate B) hicRIIH el
c) Magnesium Carbonate C) #Hefrgem Fwefae
d) Sodium Carbonate D) HI3IH FeEfac
® © ©®
7. Who among the following was known as | 7. ffofaa # @ &Y dag s T o
‘Frontier Gandhi’? ST ST AT
a) Sir Sayed Ali Khan A) ET HIE 37T @A
b) Syed Amir Ali B) ¥Jg 3R 3rel
c) Abul Kalam Azad C) Y FHollH 3HTelg
d) Abdul Gaffar Khan D) 37eqeT IFHR WIeT
® © ©®
8. Who is known the ‘Lady with the Lamp’? | g. oIE g o oy g FgT STarg?
a) Joan of Arc A) ST 36 3716
b) Helen Keller B) golel Fhelx
c) Florence Nightingale C) TRy ATSEITST
d) Sarojini Naidu D) m?ﬁﬂmg\
® © ®
9. Which is the most malleable metal? 9. W O ool arqg Hia o &2
a) Bronze A) FTET
b) Copper B) drem
c) Gold C) I
d) Aluminium D) TegfATATH
® © ®




Part-A: General Awareness

ANDO3JSA2024

HART-h: AT STETRSAT

10. The First Indian Registrar General and
Census Commissioner of Independent
India was
a) Ashok Mitra

b) R.B. Chari
¢) A.R.Nanda
d) R.A. Gopalaswami

ONONONO,

11. What is the IATA code of Port Blair?

A) IXB
B) PBR
Q) Ixz
D) PRT

® 0

12. So far, which of these states or union
territories has been ruled by least number
of chief ministers?

a) Chattisgarh

b) Uttarakhand
c) Jharkhand
d) Puducherry

ONONOGNO,

13. When was the Right to information
(Amendment) Act, 2019 passed by the Lok
Sabha?

a) July 2019

b) October 2019
c) February 2019
d) December 2019

CNONONO,

14. On which day does India observe National
Consumer Day?

a) 23" August
b) 24" December
¢) 1%January
d) 5% january

ONONONO

10. TIAT HRA & TIH HRAT ToRER S1e1e TF

11.

12.

13.

14.

STeTITOTEAT 3TgeFT &

A) 370 fAET
B) 3JR.&. =y
C) T.3R. el
D) 3R.U. IYTerEarHT

GIC SR FT IATA IS F4T &2
A) IXB
B) PBR
C) IXz
D) PRT

A dh 39A7 ¥ fhe T5T ar dhg g weer ux
T HH HEAATIAT T AT TET &2

I &1 AFOHR (FAresT) wfRdfTs, 2019
SNHHAT CaRT e TR far arr?

A) STTE 2019
B) 3icaY 2019
0 wRadr 2019
D) &Y 2019

ARG A e T TSOw sudear feaw
HAIT ST 8?2



Part-A: General Awareness

ANDO03JSA2024

HATIT-h: HTHTT SITTHRehdl

15. In which year Andaman Nicobar was
declared as a Union Territory of India?

1947
b) 1950
1956
d) 1953

ONONONO,

16. Which of these is not a port city on the

Arabian sea?
a)
b)
c)
d)

ONONONO)

Mangalore
Panaji
Visakhapatnam

Mumbai

17. United Nations has six official languages:

Arabic, Chinese, English, French, Russian
and

a) Hindi

b) Spanish

c)
d)

ONONONO,

German
Urdu

18. Which Indian Prime Minister was the first
to be awarded the Bharat Ratnha
posthumously?

a) Lal Bahadur Shastri
b) Indira Gandhi
c) Rajiv Gandhi
d) Morarji Desai

OCNONOGNO,

19. In which year, the Danish East India

company was formed?

1614
1615
1616
1617

a)
b)
c)
d)

ONONONO)

15.

16.

17.

18.

19.

EAE AR & fFg a¥ IRT &1 &g

QAT weer efa foram arar r?
A) 1947
B) 1950
C) 1956
D) 1953

ZAH W Siel AT 3N PR T & Teh deamg
RMET ET &7

D) 3§

AR AR Tl & FFATAT 8lel dTel Igel
AT TeITeT HAT it A?

A) el SgTGT ATEAT
B) sfexramehr

C) Shig amed

D) HRRSHN TS

3fover Svc Sfear Fuer I TATA fh oy
gé 2f?

A) 1614

B) 1615

C) 1616

D) 1617



Part-A: General Awareness

AND03JSA2024

HIET-: HHATT SRRl

20. Who was declared TIME Magazine’s
Person for the Year 20227
a) Narendra Modi
b) Volodymyr Zelensky
c) Elon Musk
d) The Ebola Fighters

ONONGNO,

21. Who composed the famous song — “Sare
Jhan Se Achha”?
A) Bankim Chandra Chatterjee
B) Jaidev
C) Mohammad Igbal
D) Rabindra Nath Tagore

OCNONOGNO,

22. Total internal reflection cannot take place
when light goes from:
A) glass to water
B) water to glass
C) water toair

D) glass to air

CHONGCNO,

23. Which of the following Sultanates was
ruled by the Nizam Shahi Dynasty?

A) Golconda
B) Ahmednagar
C) Bijapur

D) Berar

ONONONO,

20.

21.

22.

23.

a¥ 2022 & AT TIME HIele &1 o RE
9i¥a foRar

A) g A

B) TAISTAT SYeiwhr

C) Udlld HER

D) SdTell HeATall

wftiee afie - "aR STET W <o " Y T fhaa
EaE

A) sfpd dg Tl
) Saed

C) HIgFHE Fehdlcel
D) Wegary &R

0

qut 3iaR® TEdd dE & dhdl § o9
SIhIRT:

A) Frg ¥ GENET IR FTAT B

B) U ¥ &g Fr IR AT &

C) el & gar T 3T AT §

D) T ¥ gaT e @ N T &

refatad # & 5 Gedad I ST ATey
JrSTaer &I eTEe UT?

A) TelHET

B) 3TEHGHAIR

C) SR

5
D) AKX



Part-A: General Awareness

ANDO03JSA2024

HT-h: GTATYT STET&SHAT

24. Name the bird that migrates from the
North Pole to the South Pole and back.

A) Arctic tern
B)
C)

D)

ONONORO)

Swallow
Crane
Amur falcons

Identify the Indian “Café” brand
originated from the State of Karnataka
competing with the international coffee

chains.
A) Costa Coffee

B) Coffee Café Day
C) Barista
D) Star Bucks

CHONGNO,

25.

Who among the following formulated the
concept of poverty as a measurable
development indicator in the Indian
subcontinent?

A) Dadabhai Naoroji

B) Romesh Chandra Dutt

C) V.K.R.V.Rao

D) M. Ranade

26.

ONONOCNO)

Which Shakespeare’s play was translated
by Bhartendu Harishchandra with the title
‘Durlabh Bandhu’ published in 18807

27.

A) Julius Caesar

B) Othello

C) Hamlet

D) The Merchant of Venice

ONONONO)

24. mwaﬁwamamgvsﬁmga#afﬂvﬁga

25.

26.

27.

Y 3N Yo AT ¥ 37 araw 3mar
A) 3HfeH o
BIECITE i)

B)
)ﬁfﬂm?ﬂwsﬂﬁm
) 3

@)

D

ARSI BT @emst & arer wieege
A dre FeAlch AsT T 3c9eeT HRAT
"HE" §15 Hr ggaT i

FIECT T

HIHT F 3

IREAT

TR T3

A)
B)
Q)
D)

fmfaf@a & & s sRd suEEEdy
H AU A9 e d6ds F 77 F a99
& HTUROT R &2

A) CSIETHTS AR

B) A Tg &

C) AFIRA. 1T

D) UH. TS

emﬁwémmawa@mmg
sRedg & 1880 3 gEiwr dy i @ R
ar?

A) e diew

B) e

C) gHoT

D) & HAde 30T afaw



Part-A: General Awareness

ANDO3JSA2024 HTIT-h: HTHTT STTIT&Rehdl

28. Teak, Sal, Shisham are found in

29,

30.

a) Tropical evergreen and Semi Evergreen
Forests

b) Tropical Deciduous Forests

c) The Hill Forests of the Himalayan Regions

d) Dry Thorn Forests

ONONONO,

Which of the following was formed as the
26" state of India?

A) Chhatisgarh

B) Uttaranchal

C) Jharkhand

D) Goa

ONONONO,

Which was described by Dr. B.R.
Ambedkar as the ‘heart and soul’ of the
Constitution?

A) Right to Equality

B) Right Against Exploitation
C) Right to Constitutional Remedies
D) Right to Freedom of Religion

ONONGRO,

28. |, aret, 2T fFg R & a7 H TS
&2
A) FSUTRCEHT TerEgR R 31T TeeEr
Eral
B) ISUTHfCEHI qUIIT FeF
C) fHeT &7 & g aa

D) R[S el gel

29. Tfaf@a & & fFae 160 AT & 26 3 TSI
& & A forar ram ar?

30. 7. @3RN, 3FesaT o Y gfeus &1 gy
3R e sdrar are

A) HHATAT I AHRR

B) 2NWUT & fa%ey ¥R

C) TadUTfAd 3TURT & ISR
D) wiffi® Tadaar &1 IREHER



Part-B: General Intelligence and Reasoning Ability

ANDO03JSA2024

HIT-T: WAT it 3R aF &Tddr -

HIIT-W: THY deftr AN & aerar

PART—B: GENERAL INTELLIGENCE AND REASONING ABILITY

the region representing girls who are
employed but unmarried.

Employed

31. Study the diagram given below and identify | 31. =y T v RF & 3emya &t 33k 39

asfral & ufafefcs &= arer &3 &
Jgdld Y S RRA & dfher 3fdariea &1

(&

' Unmarried

A) 1 b A) 1
B) 2 B) 2
C) 4 c) 4
D) 5 D) 5
® OO

32. An official meeting is attended by 130

department employees. Of them, 66 drink
tea, 56 drink coffee and 63 drink juice, 27
can drink either tea or coffee, 25 can drink
coffee or juice and 23 can drink juice and
tea. 5 employees can drink any of the
three. How many persons drink only tea?

32,

T 3MMERRer do& # fFeamer & 130 weuny
AT ot 81 3H ¥ 66 arg A &, 56 S
i & AR 63 S I € 27 T @ SAy
4T §hd &, 25 &1 A1 JH O Tha § 3R
23 5@ R T & g §1 5 FHEAE At
A oo off &f g &1 fhder T Shaer =y

A &2
A) 21 A) 21
B) 22 B) 22
C) 18 c) 18
D) 20 D) 20
® © ©®

Directions (Question no. 33-34): Find the
wrong number in the following series:

feen-fader (wear @@ 33-34): Pefof@a s@er
H ITeId T&IT AT Hifo;

33. 49, 50, 54, 60, 79, 104 33. 49, 50, 54, 60, 79, 104

A) 49 A) 49
B) 54 B) 54
C) 60 C) 60
D) 104 D) 104
CHONONO,

10
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ANDO03JSA2024

HITT-T: WA geftr 3R aF svaar

34. 56, 90, 124, 158, 194, 226
A) 90
B) 124
C) 158
D) 194

ONONONO,

Directions (Question no. 35-36): Six friends are
sitting in a circle and are facing the centre of
the circle. Deepa is between Prakash and
Pankaj. Priti is between Mukesh and Lalit.

Prakash and Mukesh are opposite to each

other.

35. Who is sitting right side to Prakash?
A) Mukesh
B) Deepa
C) Pankaj
D) Lalit

® OO

36. Who are the neighbours of Mukesh?
A) Prakash and Deepa
B) Deepa and Priti
C) Priti and Pankaj
D) Lalit and Priti

ONONONO)

Directions (Question no. 37-38): Find the
answer choice which gives the same
relationship as is found between the two terms
to the left of the sign.

37.5:125:6:?
A) 343
B) 576
C) 216
D) 326

CNONOCNO)

34. 56, 90, 124, 158, 194, 226

A) 90
B) 124
C) 158
D) 194

Feam-frder (et s 35-36): OF AT TR gA A NS E
I el & s T IR @ ey &S §1 A, weprer 3
st o &t A 1 S, ener AR e F M A g

TEHTRT A Fher Uah gat o ol &

35. URIT & &T$ 3R FiT a7 &7

A) FeRer
B) &mr
C) Yol
D) wferd

36. HHYT & TSN Hler £
A) wehrer 3T &ar
B) &mur IR fy
C) Wfa 3R gerer
D) @ferd 3k ify

ferer-fader (wear ww&ar 37-38): I I fwed ¢ S
TET HEY AT § S gt & a1 3% 2 uet & @

qTAT ST &

37. 5:125:6:7
A) 343
B) 576
C) 216
D) 326

11
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AND03JSA2024

38. CEG: EGC:: ?: VWY
A) LNP
B) NLP
C) YVW
D) LXT

ONONCNO,

Directions (Question no. 39-42): Find the

missing numbers.

39. 3,12, 27, 48, 75, ...
A) 106
B) 109
C) 112
D) 108

ONONONO,

40. 1, 6, 15, 28, 45, ....
A) 56
B) 66
C) 57
D) 63

ONONONO,

41. (2.3), (5.7) (11, 13) (17,19), .....

A) (26, 28)
B) (22,24)
C) (23,25)
D) (23,29)

ONONGRO,

42. 31, 35,43, 59,91, ...
A) 135
B) 145
C) 155
D) 165

ONONOCNO,

38. CEG: EGC:: ?: VWY
A) LNP
B) NLP
C) YVW
D) LXT

ST AT ey 3R ad e

fEen-fder (wesr ww&Ar 39-42): oo e Ad

Hifa]

39. 3,12, 27, 48,75, ...
A) 106
B) 109
C) 112
D) 108

40. 1, 6, 15, 28, 45, ...
A) 56
B) 66
C) 57
D) 63

41. (2.3),(5.7) (11, 13) (17,29), ...

A) (26, 28)
B) (22,24)
C) (23,25)
D) (23,29)

42. 31, 35,43, 59, 91, ...
A) 135
B) 145
C) 155
D) 165

12



@  Part-B General Intelligence and Reasoning Ability  AND03JSA2024  STeT-W: HIH=Y gefr AR deh &Tedr

43. Hospital is 12 km towards east of Rubin’s | 43. 3rcadarer sfa & o & 12 & q‘\é‘ T 3IT
house. His school is 5 km towards south of ¥ IEFT THel TS F AT F 5 fae

Hospital. What is the shortest distance
between Rubin’s house and school? &l AT F oW AR Fpe & A w e

& R 32
A) 16 km A) 16 ..
B) 17km B) 17 fr.#.
C) 12km c) 12 .
D) 13 km D) 13 fwa.
® © ©
Directions (Question no. 44-46): Study the | fem-for&er (yes1 HEAT 44-46): RFATATRT STAFRY
following information carefully'hand answer the %TWTFTWH%WWEW#@%UWW#H?W
questions given below. %
44. If DIAMOND is coded as VQYMKLV, how is | 44. If¢ DIAMOND T vaQYMKLV & &7 & FIf2d
REWIREE. Eaeat fRaT ST ¥, A FEMALE T 8 #fea R
SITQam?
A) TUMYNU A) TUMYNU
B) UVNZOV B) UVNZOV
C) UVNYNV C) UVNYNV
D) TVNYNV D) TVNYNV
® © ©®
45. In a certain code, TRIPPLE is written as | 45. v fAfRad =g A, TRIPPLE HT SQHOOKD
SQdH(20KD. How DISPOSE is written in that forar Fmar ¥ 36 #12 # DISPOSE Y FaraT
code? )
A) CHRONRD A) CHRONRD
B) DSOESPI B) DSOESPI
C) ESITPTF C) ESITPTF
D) ESOPSID D) ESOPSID
® © ©®
46. If TAP is coded as SZO how is FREEZE | 46. Ifg TAP &I Sz0 & &9 & FIed &Far SUar
Cadufy ¥ a FREEZE BT W FfRd RRAT STEAT?
A) EQDFYG A) EQDFYG
B} ESDFYF B) ESDFYF
C) GQFDYF C) GQFDYF
D) EQDDYD D) EQDDYD
ONONONO)

13
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ANDO03JSA2024

HIIT-T: AT ef 3R aF a7aar

47.

48.

49,

50.

Which answer figure will complete the
pattern in the question figure.

47. Pl W I NPT o IHfT & et A
QT HLI|

N

A) B)
ONONORO

Subhash can copy 50 pages in 10 h;
Subhash and Prakash can copy 300 pages
in 40 h. In how much time can Prakash copy
30 pages?

A) 12h
B) 9h
C) 13h
D) 10h

® e

In a row of trees, a tree is 7™ from left end
and 14" from the right end. How many
trees are there in the row?

A) 18
B) 19
C) 20
D) 21

ONONONO,

Mr. Ravi and Priyanka celebrated their
anniversary on Friday, 4 February 2005.
When would they celebrate their next
anniversary on the same day?

A) 2009

B) 2011

C) 2015

D) 2010

ONONONO,

48.

49.

50.

Q) D)

gAY 10 §¢ F 50 ST S W @ES §;
gAY 3R Teh1er 40 6¢ F 300 95T HIAT
Hhd 81 e fhdear @ET A 30 9
T HeheTl 87

A) 12 g¢

B) 9 €C

C) 13 @

D) 10 &<

9 1 T R A, v 93 A o @ 7
I AT BR A 143 T W E 9T &
et 93 82

A) 18

B) 19

c) 20

D) 21

T 3R WGt ¥ AR, 4 I 2005 F
YA FAfIRE FTS| T 3T et 319l 3reraly
HIARE Ha FATTI?

A) 2009

B) 2011

C) 2015
D) 2010

14
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ANDO3JSA2024

HIT-@: AT §ef¥ 3R aF emar

51. Three different positions of the same dice 51. Ueh & 91 T N 3rerer-3rereT RufASF A=y

are shown below. Which symbol is on the

face opposite to the face showing '*' ?,

A) +
B) %
C) #
D) &

ONONONO,

52. Xand Y start simultaneously from a certain
point in North and South directions on
motorcycle. The speed of X is 80 km/hr and
that of Y is 65 km/hr. What is the distance
between X and Y after 12 minutes?

A) 39km
B) 36.2 km
C) 29km
D) 14.5km

ONONONO,

53. A tank can be filled by one tap in 20
minutes and by another in 25 minutes.
Both the taps are kept open for 5 minutes
and then the second is turned off. In how
many minutes more will the tank be
completely filled?

A) 11 minutes
B) 18 minutes
C) 16 minutes
D) 8 minutes

O ONGNO)

52.

53.

e 78 & '+ gl e vew ¥ Rudg
Bl W Pl §1 Rea £2

B) %
C) #
D) &

X 3R Y Areasfia w3 R af@yor
famstt # v fRea g & v @y qw
g 81 X &1 a1fy 80 fnefy/ wey & 3 ¥ &y
aifd 65 farei/aer §1 12 e & a1 X 3R
Y & s T gl Far @7

A) 39 fr.aT.

B) 36.2 f&.A.

C) 29 .=

D) 14.5 fF.#Y.

wéﬁﬁwm#zoﬁmﬁaﬂraﬁt
Q25 fAAC & SRT S Hahar & St sat @y
5 fAsiT % g @ Fmar ¥ 3k A gay
HI ¢ X G S §l T g Bee &
A &R SrE?
A) 11 Bee
B) 18 M=
c) 16 fA=c
D) 8 fA=e
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Part-B: General Intelligence and Reasoning Ability ~ ANDO3JSA2024 ~ HIeT-W: WIAA F&fer AR ook &Tocm

54. How many letters are there in the following
alphabetical series which is immediately
preceded by vowel and immediately
succeeded by consonant?

»
s4. fraAfaf@d aotaTen Jwer # W fohde 3R

¢ Fash &% dgol T AR OF dlg ohsr

X

PVBNHGXKINXJAESQWERPMIUTRLOE

A) One
B) Two
C) Three
D) More than three

ONONONO)

55. Vinita walks 60 metres north, then turns
right and walks 80 metres, again turns right
and walks 40 metres, then again turns right
and walks 80 metres. How many metres
away she is from her original position?

A) 10m
B) 40m
C) 20m
D) Om

ONONONO,

Directions (Question no. 56-57): Fill in the
blanks with appropriate choice to complete the
sequence.

56. 2, 20, , 380, 1532
A) 92
B) 60
C] 112
D) 124

ONONONOC,

57. 2,12, 36, 80
A) 120
B) 140
C) 150
D) 170

ONONONO,

A) TH
B) a
c) o=
D) T & 3feH

55. fasidr 60 #Hrex 3T F 3R T §, R a7
5 & 3R 80 FHiex Tarch &, BT gl gzl
¢ 3 40 #Hrex =ordhr &, Y &’ s & 3R
80 #HIeX el gl dg 3= Hor Fufa &
fohcer #feT gT &7
A) 10 #r
B) 40 #r
C) 20 #Hr
D) O &Y

fram-forder (sreer w&aT 56-57): ThaA I QT HLe
& fov Rad Tu= & 3faa Adeq T il

56. 2,20, ,380, 1532
A) 92
B) 60
C) 112
D) 124

57. 2,12,36, 80
A) 120
B) 140
C) 150
D) 170
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Part-B: General Intelligence and Reasoning Ability ANDO3JSA2024

HET-T: AT §ef¥ 3R aF emwar

58. A cistern has a leak which would empty it
in 8 hours. A tap is turned on which admits
6 litres a minute into the cistern, and it is
now emptied in 12 hours. How many litres
does the cistern hold?

58. Ush T H Ramg § o 29 8 5 & @redy ¢

M| Uk el 16l § ST TR aar & 6
# fd Bere e =l sar & 3R s 3w
12 & # @rel 8 SI7ar &1 & & fraer dffex

g7
A) 5000 litres A) 5000 @freT
B) 4680 litres B) 4680 @fex
C) 6840 litres C) 6840 wiieY
D) 8640 litres D) 8640 siex
® © ®
59. How many squares are there in the given | sg. & TS 34-@1% A forder a9 &2
figure?
/|
A) 12 A) 12
B) 13 B) 13
C) 16 C) 16
D) 17 or more D) 17 a1 318«
® © ©
60. Two buses start at the same time from two 60. BT 98 UH & §AT F o 55 o=t a e

bus stations and proceed towards each
other at the rates of 20 km/h and 25 km/h
respectively. When they meet, one bus
may have travelled 80 km more than the
other. Find the distance between the two
bus stations.
A) 720 km
B) 710 km
C) 700 km

D) 680 km

CNONONO

gt & 3R e 20 fRefvEer 3k 25
feral/Eer 1 &T ¥ Th-gEY T N et ¥
SIS I e €, O vw aw g@d f e o
sommwwgﬁm%laﬁ#’rw
TR & @ f gl AT A

A) 720 TR.HY

B) 710 &

C) 700 fr.#

D) 680 f&.#r
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Part-C: Arithmetic and Numerical

ANDO03JSA2024 HIIT-3T; 37RO AR FE&ITcAS

61.

62.

63.

64.

l.

HT-3T;_3{haTTOd 3 GEATcHS

PART-C: ARITHMETIC AND NUMERICAL

The average age of a husband and a wife
was 23 years when they were married 5
years ago. The average age of the husband,
the wife and a child who was born during
the interval, is 20 years now. How old is the
child now?

A) Lessthan 1 year
B) 1vyear

C) 3years

D) 4 years

ONONONO)

What least number of five digits is exactly
divisible by 417?

A) 10045

B) 10004

C) 10041

D) 10025

ONONGNO,

A man has in all Rs 640 in the
denominations of one-rupee, five-rupee
and ten-rupee notes. The numbers of each
type of note are equal. What is the total
number of notes he has?

A) 90

B) 100

C) 120

D) 150

ONONGRO

If two numbers are in the ratio of 5: 7 and
their L.C.M is 315, then their product is:

A) 2358
B) 2385
C) 2538
D) 2835

ONONONO)

61.

62.

63.

64.

U 9fd AR gelr &1 3ea g 23 af o
mm@r%ﬂﬁsﬁqﬁgéaﬁlqﬁ,tﬁﬁ
AR e F GReT Yer gU v ged A
AT 3G 3 20 Y §| Fear IS fhcwed
Tl &7 872

A) UHIYHHA

B) 1ay¥

C) 3ay

D) 4Ty

U 3l HT HiT A FgAdH dEdr 41 4
qﬁa: ICE: ) %‘7

A) 10045

B) 10004

C) 10041

D) 10025

Teh HGHT & 910 T I9Y, 9 99 3R
aq TUF & Hegad A Fol 640 T 1 W
JhR & AlC & A SRR 8 8. 39F IH
Fol fohda e 872

A) 90

B) 100

c) 120

D) 150

5:7 & 3uid # § 3R 37H LCM 315
g, l 3ol IUTh &

A) 2358

B) 2385

C) 2538

D) 2835
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Part-C: Arithmetic and Numerical

AND03JSA2024

HTI-3T; 30T 3R TE&ITcHSR

65.

66.

67.

68.

What is the smallest number by which
3600 must be divided to make it a perfect
cube?

A) 9

B) 50
C) 300
D) 450

ONONGNO,

In an examination, a pupil’s average marks
were 63 per paper. If he had obtained 20
more marks for his Geography paper and 2
more marks for his History paper, his
average per paper would have been 65.
How many papers were there in the
examination?

A) 8
B) 9
C) 10
D) 11

ONONONO,

Three sets of English, Mathematics and
Science books containing 336, 240 and 96
books respectively have to be stacked in
such a way that all the books are stored
subject-wise and the height of each stack is
the same. Total numbers of stacks will be:
A) 14
B) 21
C) 22
D) 48

® OO

The price of petrol is increased by 25%. By
how much percent a car owner should
reduce his consumption of petrol so that
the expenditure on petrol would not be
increased?

A) 25%

B) 30%

C) 50%

D) 20%

ONONGRO,

65.

66.

67.

68.

aE T oI & HiA @ & S 3600
# Rfea & W a8 & T o &
STT?

A) 9

B) 50

c) 300

D) 450

s gdeT #, UF o & ufd 9w dad 3w
63 | I 3T oA T & IR & AT
20 3% 3 3R U e & dW &
faw 2 3% 3 uread e gid, dr 3
gfar 9w 3ia 65 gari gdaT # fhde 9w
I?

A) 8

B) 9

C) 10

D) 11

e, @it iR fAae & fraret & di
Je e FA: 336, 240 3R 96 fhare §,
3ot 0 RE O & e gren fF welt fomared
fRyg-ar dafga g 3R 93w & Fr FaE
A Y R A Fol HEAT gIM:

A) 14

B) 21

c) 22

D) 48

Igre T HET 7 25% HT TR §S &l TH
HN Afores & 9 HT @ad fhdel giaerd
FH T AIRT s Ugiel W @9 7 967

A) 25%
B) 30%
C) 50%
D) 20%
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Part-C: Arithmetic and Numerical

ANDO03JSA2024

HET-IT; IHIOT 3N FE&Ierms

69.

70.

71.

72.

73,

In an election between two candidates,
one got 55% of the total valid votes. 20% of
the votes were invalid. If the total number
of votes was 7500, the number of valid
votes that the other candidate got, was

A) 2700

B) 2900

C) 3000

D) 3100

ONONOGNO,

A fruit seller buys lemons at 2 for a rupee
and sells them at 5 for 3 rupees. His gain
percent is:

A) 10%
B) 15%
C) 20%
D) 25%

ONONONO,

A train travelling at a speed of 30 m/sec
crosses a platform 600 m long in 30
seconds. The length of the train is:

A) 300m
B) 200m
C) 150m
D) 120m

ONONONO,

What is the unit digit in (3% x 6% x 77)?

A) 6
B) 4
) 2
D) 1

® OO0

(2°+42+ 62+ .......... +20%) =2
A) 770

B) 1155

C) 1540

D) 1925

ONONONO,

69.

70.

71.

72.

73.

& 3FfEaRt & f= s 9o A, wE @
Fo dY et & 55% dle fAel 20% A
¥ &, A FoF AAT Fr wEAr 7500 o, @
quY 3FHIGAR T oo dY AAt i wear o
A) 2700
B) 2900

C) 3000
D) 3100

U Tl fashal veh S0 #F 2 fiq @lear §
AR 3% 3 39T & 5 39 F J=ar & 3HET
arer gfaera &

A) 10%

B) 15%

C) 20%

D) 25%

30 Hiey/Ashs # fy F Tol Aol vk oA
600 HeX ofd Tolewied H 30 Vs F UR
F § &7 T oS B

A) 300m

B) . 200 m

C) 150m
D) 120m

(365 x 659x 771) ﬁsa;réﬁwgf)
A)
B)
)
D)

RN A~ O

(22+42+ 6%+ . +207) =?
A) 770

B) 1155

) 1540

D) 1925
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’ll@ Part-C: Arithmetic and Numerical ANDO03JSA2024 HIIT-3T: 3{Fariog 3R gEaeAs

74. 3 men or 5 women can do a work in 12 74,3gwm5;:|%3rrﬁr’wma;‘r12ﬁa’rﬁ
days. How long will 6 men and 5 women X TFS ¥l 6 Tt 3K 5 Afgem3it Y F
take to finish the work? . =

RT R H hdar g aeten?

LN

A) 4 days A) IR fea
B) 10 days B) & fea
C) 15 days c) 15 f&a
D) 20 days D) 20 &=
® © ©

75. Ayush spends 23% of an amount of money | 75, 3Ty AT & 23% YR W, 33%
on transport, 33% on food, 19% on children 91SreT 9X. 19% S=at & e 9% 3 16%
education and 16% on recreation. He . '
deposited remaining amount of Rs. 504 in FANST o T 3 {E'” %l. 3 A TR T
a bank. How much money he spends on AT & A Utk dF A 504 . TqE HASA

food and transport together? 3R aRags W For HeHT fraer ST @
FAT &7

A) Rs 3200 A) 3200 9

B) Rs3126 B) 3126 T

C) Rs3136 C) 3136 T4

D) Rs 3048 D) 3048 T

® © ®

76.

76.
The value of \/57+j11+,’19+\/29+\f4—9_ is: ﬂ+\[11+ ’19_._,/294.\/'4—9’ T AT &
A)

A) 3 3
B) 5 B) 5
c) 7 Q 7
D) 9 D) 9
® © ®
77. The sides of a triangular board are 13 m, 14 | 77. e Paofr a5 $ir aisrré" 13 e, 14 Hex
m and 15 m. The cost of painting at Rs 8.75 3 15 #ex #| o9 & g 8.75 U
per square meter is: ofer et Hex &
A) Rs688.80 A) 688.80 T
B) Rs735 B) 735 ¥4
C) Rs730.80 c) 730.80 TG94
D) Rs722.50 D) 72250 FIA

ONONOCNO,
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Part-C: Arithmetic and Numerical

78.

79.

80.

81.

82.

ANDO03JSA2024

HIT-3T: HRIOIT 3R TeaTerms

A copper sphere of diameter 18 cm is 78.

drawn into a wire of diameter 4 mm. The
length of the wire so drawn is:

A) 243 m
B) 245m
C) 247 m
D) 250 m

®

If a = ‘/73— ,» then the value of (v/1+a + | 79.

J1—a)is:

A) V3
B) %?

C) (2++3)
D) (2-+3)

ONONONO)

The largest four-digit number exactly | go
divisible by each 12, 15, 18 and 27 is:

A) 9690
B) 9720
C) 9930
D) 9960

ONONONO,

0.007 + 8.5 + 30.08 = 81.

A) 32.00
B) 38.58
C) 38.587
D) 38.597

ONONONO,

If x>~ 3x+1 =0, then the valye ofx+% is: | 82.

A) 0
B) 1
C) 2
D) 3

CHONONO

18 QT AT AT Uk i & aier FY 4 B
ST aTel Ush AR A @i o 81 59 veR
YR 710 R $r oS g

A) 243 FHy

B) 245 #Y

C) 247 #H

D) 250 #Y

afe a =E-'"/2—3—,H)T(\/1+a+ 1 —a) & AT
&

A) V3

B L

2
0 (2++3)
D) (2-+v3)

. 9% 12, 15, 18 3R 27 & qofe: Ry

IR 3T T T TE TE P
A) 9690
B) 9720
C) 9930
D) 9960

0.007 + 8.5 + 30.08 =
A) 32.00

B) 38.58

C) 38.587

D) 38.597

Uﬁxz—3x+1=0,mx+§$rm?~r%:
A) O

B) 1
€) 2
D) 3

22
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» Part-C: Arithmetic and Numerical AND03JSA2024 M-I, RO 3R T&areqms

83. If five times the fifth term of an AP is equal 83. Ifg vy AP & uiad ug &1 Ui I, AP
to seven times, the seventh term of the AP,  Oad T ¥ T I & ama; : oar
then what is the twelfth term? , 2 '

IRgar 9g 47 g7
A) -1 A) -1
B) O B) O
cy 1 cy 1
D) -2 D) -2
® © ©®

84. The sum of place value and face value of 8 84. TUTHAT AT 3R 3ifha AT 8 1 Tler 43836
in 43836 i.e. ¥ g
A) 88 A) 88
B) 808 B) 808
C) 880 C) 880
D) 888 D) 888
® © ®

85. The sum of natural numbers which are 85. 3o HTehel FEAN & T 3 100 & ASE
divisors of 100 is ¥
A) 116 A) 116
B) 117 B) 117
) 21 C) 21
D) 217 D) 217
® © ®

86. When%ofa number is subtracted from the | 86. 3« % Y Tear & @ s H@Edr ger &
number itself, it gives the same value as the ST g, ar 9 e7sT & @t ot & T &

sum of all angles of a triangle. The number AT AT IIod &t &1 9 gwar ¥
is:

A) 224 A) 224
B) 210 B) 210
C) 140 C) 140
D) 120 D) 120
® © ®
87. The value of 0. 142857 + 0. 285714 is: 87. 0.142857 + 0.285714 T AT ¢
1 1
A) g A) '%-
B) 3 B) 5‘
c) 2 € 2
D) 10 D) 10
| ® © ®
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Part-C: Arithmetic and Numerical AND03JSA2024 HTIT-IT; 3{haTOTT IR T&ATHS

88. The sum of 5 consecutive even numbers A, | 88. 5 FARIT TF &3 A B, C, D3R E
B, C, D and E is 130. What is the product of & T 130 &1 A 3K E &7 vewe F4
Aand E? 2

g7
A) 720 A) 720
B) 616 B) 616
C) 660 C) 660
D) 672 D) 672
ONONONO)

89. Ifa number is exactly divisible by 11 and 13, | g9. fx Fs TEar 11 3 13 & q;ui?r: ICEIE]
which of the following types the number ¥ a1 a8 e e § @ Y ge
must be? :

‘ #r glar arfgu?
A) Divisible by (11 + 13) A) (11+13) & e
B) Divisible by (13 - 11) B) (13-11) & fermsw
C) Divisible by (11 x 13) ) (11x13) & srsx
D) Divisible by (13 + 11) D) (13+11) & faosy

ONONONO.

90. The sum of first 20 odd natural numbersis: | 90. g 20 fws q-@iaa; HEIT3T FT AT F:

A) 420 A) 420
B) 400 B) 400
C) 300 C) 300
D) 210 D) 210
® O

24

—




Part- D: General English AND03JSA2024 HTIT-T: AT ISl

ART-Y: HHT 313
PART-D: GENERAL ENGLISH

Read the given passage and answer the questions that follow by selecting the correct options:

"I Have a Dream" is a public speech delivered by American civil rights activist Martin Luther King Jr.
during the March on Washington for Jobs and Freedom on August 28, 1963, in which he calls for an
end to racism in the United States and called for civil and economic rights. Delivered to over 250,000
civil rights supporters from the steps of the Lincoln Memorial in Washington, D.C., the speech was a
defining moment of the civil rights movement.

Beginning with a reference to the Emancipation Proclamation, which freed millions of slaves in 1863,
King observes that: "one hundred years later, the Negro still is not free". Toward the end of the speech,
King departed from his prepared text for a partly improvised peroration on the theme "I have a
dream", prompted by Mahalia Jackson's cry: "Tell them about the dream, Martin!" In this part of the
speech, which most excited the listeners and has now become its most famous, King described his
dreams of freedom and equaIit?’ arising from a land of slavery and hatred. Jon Meacham writes that,
"With a single phrase, Martin Luther King Jr. joined Jefferson and Lincoln in the ranks of men who've
shaped modern America". The speech was ranked the top American speech of the 20th centuryina
1999 poll of scholars of public address.

91. What issues does Martin Luther King’s speech address?
A) Continuation of racism
B) End to racism and civil and economic rights
C) Civil rights
D) Civil War

ONONOGNO)

92. From the second paragraph, find another word for ‘Speech or public oration’.
A) Emancipation
B) Proclamation
C) Peroration
D) Improvised

ONONONO,

93. What pushes King to speak: “I have a dream”?
A) He reads out the Emancipation Proclamation
B) He is prompted by Mahalia Jackson
C) He is overwhelmed by the crowd
D) Lincoln had asked him to give the speech

ONONOCNO,

94. What is the name of martin Luther King’s famed speech?
A) The Emancipation Proclamation
B) An improvisation
C) A Peroration
D) |Have a Dream

ONONOGNO)
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Part- D: General English AND03JSA2024

ATT-T: FTATT 373l

Choose the correct meaning of the given idiom/phrase.

95. To keep the ball rolling:
A) To earn more and more
B) To work slowly
C) To cause an activity or process to continue
D) To make the best use of

ONONONO,

96. Spill the beans:
A) To give away a secret
B) To agree completely
C) To wish someone luck
D) To be undecided

® 0

Rewrite the following sentences in indirect speech:

97. I said to my classmate, "Please lend me your cycle."
A) lordered my classmate to lend me his cycle.
B) Iadvised my classmate to lend me his cycle.
C) Irequested my classmate to lend me his cycle.
D) Iforbade my classmate to lend me his cycle.

ONONONO)

98. The teacher said, "What is the matter?"
A) The teacher asked what the matter is.
B) The teacher asked what the matter had been.
C) The teacher asked what was the matter.
D) The teacher asked what the matter was.

ONONONO,

Fill in the blanks with the correct determiners:

99. You pay for the damage done!
A) could
B) would
C) dare
D) must

CHONONO.

100. There are messages for you.
A) none
B) no
C) much
D) little

ONONONO,
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Choose the most appropriate option which is the Synonym of the underlined word:

101. At this stage, potential contracting parties can haggle over the division of the gains from trade.
A) bargain
B) accuse
C) impeach
D) ignore

ONONONO,

102. Fluttering and twittering are the admirable actions of birds.
A) Chirping
B) Picking
C) Dancing
D) Dropping

ONONONO,

Find one word substitution:

103. A man of lax moral:
A) Ruffian
B) Pirate
C) Vagabond
D) Licentious

ONONONRO,

104. Anything written in a letter after it is signed:
A) Posterity
B) Postscript
C) Postdiction
D) Corrigendum

ONORONO,

105. A poem written on the death of someone loved and lost
A) Ode
B) Sonnet
C) Elegy
D) Epic

ONONGHNO,

Fill in the blanks with the correct modals:

106. We help the poor.
A) must
B) can
C) oughtto
D) might

ONONONO,
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Part- D: General English ANDO03JSA2024

107. We to do a lot of work before the event starts.

A) would
B) need
C) having
D) are

ONONONO,

Fill in the blanks with appropriate prepositions:

108. He hinted ------------- some loss of treasure.
A) at
B) for
C) on
D) with

ONONOGNO)

109. She has not read anytﬁing ----------------- Monday.
A) from
B) for
C) on
D) since

ONONONO,

Each of the following sentences has been given in Active or Passive Voice. Select the one which best

expresses the same sentence in Passive or Active Voice:

110. His pocket has been picked.
A) They have his pocket picked
B) Pocking has been done to his pocket
C) Picked has been his pocket
D) Someone has picked his pocket

ONONOGNO)

111. Why do you waste time?
A) Why is time wasted by you?
B) Why is time been wasted by you?
C) Why has time been wasted by you?
D) Why is time being wasted by you?

ONONONO,

Find the correct antonyms for the given words:
112. EXONERATE

A) Compel

B) Accuse

C) Imprison

D) Boldness

ONONOGNO)

HET-E; TTHATT 37T I
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Part- D: General English

113. SPITE
A) Spleen
B) Venom
C) Affection
D) Spirit

ONONOGNO)

ANDO03JSA2024

HET-T, GTAT 3735

Fill in the blanks with appropriate Verb Forms:

114. Everyone wants to
A) be admired
B) admire
C) being admired
D) be admiring

ONONONO,

115. His father was 45 when he
A) hasdied
B) had died
C) died
D) be dying

ONONGNO)

Choose the correctly spelt word:

116. A) Defendent
B) Defendant
C) Defandant
D) Defandent

ONONONO.

117.A) Bouquette
B) Boqueate
C) Bouquet
D) Bouquete

® O

118. A) surveilance
B) surveillance
C) survellance
D) surveilance

® 0O

for one’s achievements.
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Part- D: General English ANDO3JSA2024 HIT-9; AT 33T

Choose the option which gives the correct sequence in which the words should be arranged to make
a meaningful sentence.

119.to cross the broken bridge/(P) not knowing how/(Q) to wade through the river/(R) they
decided/(S)

A) PQRS
B) RSQP
C) SRPQ
D) QPSR

O ONONO,

120. far out into the sea (P) / for the next two weeks there were further explosions (Q) / which hurled
(R) / ashes and debris (S)
A) QRPS
B) RSPQ
C) QRsP
D) SRPQ

ONONGNO)

3k 2k ok ok 3k ok ke ok %k ok %k
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Time allowed: 2 hours ANSWER KEY MM: 120
1. D 31. D 61. D 91.
2. B 32. A 62. B 92.
3. B 33. C 63. C 93,
4. D 34. D 64. D 94.
5. B 35. D 65. D 95.
6. B 36. C . - 66. D 96.
7. D 37+ C 67. A 97,
8 ¢ 38. C 68. D 98.
9. C 39. D 69. A 99.
10. D ﬁ40. B 70. C 100.
11. C 41. D 71. A 101.
12. A 42. C 72. B 102.
13. A 43. D 73. C 103.
14. B 44, A 74. A 104.
15. C 45. A 75. C 105.
16. C 46. D 76. A 106.
17. B 47. D 77. B 107.
18. A 48. A 78. A 108.
19. C 49. C 79. A 109.
20. B 50. B 80. B 110.
21. C 51. D 81. C 111.
22. B 52. C 82. D 112.
23. B 53. A 83. B 113.
24, A 54. D 84. B 114.
25. B 55. C 85. D 115.
26. A 56. B 86. B 116.
27. D 57. C 87. A 117.
28. B 58. D 88. C 118.
29. A 59. D 89. C 119.
30. C 60. A 90. B 120.
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